For: Honda TRX 420/500 IRS (2015 —)

2444.2110.1
444.2110.1



nn
o R

EN Ratqhet
FR Clé A Cliquet S-10;
DE Ratsche S-13

RU TpeweTka

M8 ; X2 | M6x20 X8| M6x30 x3| M8x25 x18| M8x30 X2 | M6 x11
13 14 15 = 16 17| 18
=) © (=7
&) T
M8 x14 [ M6 X2 [ M8 x5 | M6 X2| M6x20 X2 | M8x25 X2

2444.2110.1 / 444.2110.1



2444.2110.1 / 444.2110.1




2444.2110.1 / 444.2110.1




T

\£ﬁ7

I} \\
Lj\

()

@

8,14

iy = . @\‘I-%-IIIIA I

\

7

[ ] 1
B
%.lg——‘\‘ ——

(O]

7/

<f w
m \ ANNAN \//
\,wﬁ—’_// @ ’LH

g\ )

i

(D@Z? }

D —

LAl

T

| C—

b
WY o] D

17, 12

\JC

/j

~[on

i

=

-

2444.2110.1 / 444.2110.1



\ n lIV/

qjﬂn

Q:@ifé‘iﬁw
N

2444.2110.1 / 444.2110.1



2444.2110.1 / 444.2110.1




L
L

, e aal
@ jg ‘I'Féﬁ §\

— (
—

2444.2110.1 / 444.2110.1



mQ
LA
L e

Q
T -
( \ \
a2 Wlygnnr=—mmuwe.d

B - .

SeA oy (1 -
2 N
! -
Il

(0]

0)

S

“I-=‘!'Il'b =

L /

A0V 0

2444.2110.1 / 444.2110.1



AV IR

2444.2110.1 / 444.2110.1




